1.

o
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1502 — 1492 = 150 + 149 S AYsl=¢ = Q
A=H?

® a* +2ab + b = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1? = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
wehA o] 8H T2 a2 - b? = (a+b)(a-b)




2. a-b=1,2-b0*=42 W a+b 2 F2?

@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4




3. Os oA dEsl AN @, Ol ol 8H F4& B4
Zof 2he| = A2 A27

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

= 2x(x-5)(__)

© (x+y)?+3(x+y) +2°04[ |8 A 2 A&7,

O x-1,x-y @ x-1,x+y ® x+1,x-y
(@)x—i—l,x—i—y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)




